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QUESTION 1

Which option is best practice for creating a recovery catalog owner in the catalog database? 

A. Granting UNLIMITED QUOTA on the SYSTEM tablespace to the owner 

B. Allocating the SYSTEM tablespace as the default tablespace and granting the SYSDBA privilege to the user 

C. Creating a new tablespace, allocating this as the default, and granting UNLIMITED QUOTA on this tablespace to the
user 

D. Allocating the SYSAUX tablespace as the default tablespace and granting UNLIMITED QUOTA on this tablespace to
the user 

Correct Answer: C 

To create the recovery catalog schema in the recovery catalog database: 

1.

 Start SQL*Plus and connect with administrator privileges to the database containing the recovery catalog. In this
example, the database is catdb. 

2.

 Create a user and schema for the recovery catalog. For example, you could enter the following SQL statement
(replacing password with a user-defined password): 

CREATE USER rman IDENTIFIED BY password TEMPORARY TABLESPACE temp DEFAULT TABLESPACE tools
QUOTA UNLIMITED ON tools; 

3.

 Grant the RECOVERY_CATALOG_OWNER role to the schema owner. This role provides the user with all privileges
required to maintain and query the recovery catalog. GRANT RECOVERY_CATALOG_OWNER TO rman; 

 

QUESTION 2

You plan to have a larger moving window size for the default system-defined moving window baseline because you
want to use the adaptive threshold. 

Which statement factors in this consideration while increasing the size of the moving window? 

A. The collection level for the AWR should be set to BASIC. 

B. The moving window size must be less than Undo Retention. 

C. The moving window size should be greater than the Automatic Workload Repository (AWR) retention period. 

D. The moving window size should be equal to or less than the Automatic Workload Repository (AWR) retention period. 

Correct Answer: D 
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Moving Window Baseline (link) 

A moving window baseline corresponds to all AWR data that exists within the AWR retention period. This is useful when
using adaptive thresholds because the database can use AWR data in the entire AWR retention period to compute 

metric threshold values. Oracle Database automatically maintains a system-defined moving window baseline. The
default window size for the system-defined moving window baseline is the current AWR retention period, which by
default is 8 

days. 

If you are planning to use adaptive thresholds, consider using a larger moving window--such as 30 days--to accurately
compute threshold values. You can resize the moving window baseline by changing the number of days in the moving 

window to a value that is equal to or less than the number of days in the AWR retention period. Therefore, to increase
the size of a moving window, you must first increase the AWR retention period accordingly. 

 

QUESTION 3

Which command would you use to determine what database backups are currently available for restore? 

A. list database backup; 

B. report database backup; 

C. list backup of database; 

D. list summary backup; 

E. report backup of database; 

Correct Answer: C 

 

 

QUESTION 4

Which pseudocolumn could you use to identify a unique row in a Flashback Versions Query? 

A. XID 

B. VERSIONS_PK 

C. VERSIONS_XID 

D. VERSIONS_UNIQUE 

Correct Answer: C 

 

QUESTION 5
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Which of the following commands will fail? 

A. report schema; 

B. report need backup; 

C. report need backup days 3; 

D. report user; 

E. report obsolete; 

Correct Answer: D 
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